Find equations of both the tangent lines to the ellipse x2 + 9y2 = 81 that pass through the point (27, 3).
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Find dy/dx by implicit differentiation.
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One side of a right triangle is known to be 20 cm long and

the opposite angle is measured as 30°, with a possible error

of *=1°.

(a) Use differentials to estimate the error in computing the
length of the hypotenuse.

(b) What is the percentage error?
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Use differentials to estimate the amount of paint needed to
apply a coat of paint 0.05 cm thick to a hemispherical dome
with diameter 50 m.
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Suppose that the only information we have about a function
f is that f(1) = 5 and the graph of its derivative is as

shown.
(a) Use a linear approximation to estimate f(0.9) and %CH y E ‘F’(X\

f(L1).

(b) Are your estimates in part (a) too large or too small?
Explain.
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